£ 4 ERFHETRE L RFER

2024468308 (8)
RIS b EEFRS

S S
ik L2 ] [ & ] No | 4 [or]
B 100m PZINSE Y 1 -0.9 18104 #FE EE(2)
BB 100m L2148 2 0.9 18102 B E{=(2)
B 100m 2L-A1HE 3 -0.9 18115 #F  #&(3)
BB 100m L2148 4 0.9 18122 MM #(1)
B 100m PZINSE Y 5 -0.9 18123 R fEARR(1)
HHE100m L2158 4201 WA EA 3 x %
B L=z [efa] [A] No | 23 [t ]
D HE 100m L2248 1 1.0 5507 LT #fift
OB 100m wLL-R2%8 2 1.0 5896 MR FE(H2)
OHHE100m L2248 3 1.0 18105 #M B2
POE B 100m wLL-R2%8 4 10 18111 #t 834(3)
OHWHE100m L2248 5 10 5527 S %
DB 100m L2248 6 1.0 373 AN HR(3)
B L=z ] [ ] no ] 23 [t ]
DB 100m MU-ARERR 1 10 5507 ILF HEE
DB 100m ML-TRERER 2 1.0 5896 EEIHR Fi(®2)
DB 100m MU-ARERSR 3 1.0 18105 FE BHEQ)
OHHE100m MU-MEEEE 4 1.0 18111 .t 1&34(3)
B 100m MU-ARERR 5 10 5527 5 #8
DB 100m ML-TRERER 6 -0.9 18104 HE HE(Q)
DB 100m MU-RERR T 0.9 18102 EE ()
ROFPE 100m ML-TRERER 8 1.0 373 QM 1HR(3)
B 100m MU-ZEER 9 0.9 18115 A 18(3)
OHHE100m MU-AEEEER 10 0.9 18122 @A #(1)
B 100m MU-RERER 11 -0.9 18123 RiF A1)
[ ik Lz ] [&B] No ] 4 [0t
BF NROBEHF 800m 1 18121 25 R#(1)
[ ik Lz ] [&B] No ] 4 [0t
BF ARBOFEFF 1500m 1 18113 Ff #+(3)
[ ik -z ] [&B] No ] 4 [0t
BF AROBHEF 3000m 1 18124 B A—(1)
[ ik Lz ] [&B] No ] 4 [0t
BB FE EERK 1 -0.1 5507 WiF #LE
EES=F == 2 06 5527 5fl HH
EESES 3 -0.7 18115 #A  1&(3)
[ it L2 [refi] [ BT No ] 2 [t ]
FF AROHB T HALK(5.000kg) 1 18104 % B5(2)
[ ik -z ] B[ No [  F-i% [Eaea) [ ot ]
BT QRO BF 4x100mR 1 181 ALEF A HE B
[ i L=z ] [B] No ] 23 [t ]
PO B 10 0m 1 09 5529 NE £%
DB 100m 2 0.9 18101 /AviE  HkiE(2)
DOEEFE 100m 3 0.9 18114 & LHQ)
DB 100m 4 0.9 18125 FIE HAR(1)
SDEAEE 100m 5 0.9 5653 EA EAL(F3)
RO EE 100m 6 0.9 18123 AFE #H#b(1)
DB 100m 7 0.9 18122 Il w1 (1)
D HE100m 18124 A0 FE(1) x5
it L2 k] [m] No ] KE [0 ]
RO HF 800m 1 18102 AF  #(2)
LF AROBFE 800m 2 18121 JIlA #FE(1)
i L=z ] [B] No ] 23 [t ]
1500m 1 18111 A& #&7E(3)
#1500m 2 18127 g (1)
1500m 18126 i #%(1) x5
i L=z ] [B] No ] 23 [t ]
D 158 ERB 1 05 114 5 BEEQ)
DEB 638 EIEBE 2 1.0 5529 MR EIR
D 58 EIRB 3 1.2 18125 FlE FR(1)
RO @ ERD 4 0.6 18124 &0 FE(1)
i L= [k [R] N [ 7z [BaEa) [ ot |
RO P 4x100mR 1 181 AEiER A Beh #=PB)
O hE 4x100mR 2 181 wE ER(1)
RO FF 4x100mR 3 181 AFEES C ne EEQ1)
it L—x [k [R] No ] 2 [ ]
ROE FF FINE(2.721kg) 1 18114 & L)
DI B AN (2.721ke) 2 18111 B&  #7EQ)
RO B FhE(2.721kg) 18126 110 #%(1) x %
it L2 k] B [ No | 2 [or]
BF O EE 60m 2ALL-A1HE 1 0.2 71 HE BEIREG) R
BF —HROW 8 6 0m L2148 2 02 32 #HK %0
BF OB 60m 2ALL-A1HE 3 0.2 398  BEEG) R
BF —ROW 8 6 0m L2148 4 02 23 A% KD
BF O EE 60m 2ALL-A1HE 5 0.2 26 fadk A1)
BF —ROW 8 6 0m L2148 6 02 73 EER HEQ)
BF —HOEEE60m 2L -A1HE 72 8 #EQG) 5 x B
it L2 k] B [ No | 2 [or]
BF —ROH E 6 0m 2LL-R2%8 1 00 250 WiF & i
BF —BOBHXE60m 2YLL-2248 2 0.0 47 JIIF BEK(5)
BF —MBOBHE60m 2ALL-A24 3 0.0 44 7% EF(6)
BF —BOBHE60m 2YLL-2248 4 0.0 43 BR 1545(6)
BF —MBOBHE60m 2ALL-A24 5 0.0 51 T 15&(4)
BF —BOBHE60m 2YLL-2248 6 0.0 50 A AARER(4)
BF —ROH E 6 0m 2LL-R2%8 4201 WE EA 8 R B
BF —HROW 8 6 0m MLL-A248 373 A 15%R(3) x %



FHhRE RS 2024468308 (8)
RIS b EEFRS

S S
B v—2  [mf] @& | & No | =3 iR [t ]
BF —HOWE 6 0m MU-ABERR 1 893 0.0 250 WLiF & RO FFHEAC
BF —HROW 8 6 0m MU-REER 2 948 0.0 47 JIIF BK(5) R O# WERS
BF —MBOFBHB60m MU-RERER 3 9.72 0.0 44 % EFH6) R # WHRS
BF —HROW 8 6 0m MU-MREREE 4 1073 02 71 &M@ BIREG) RS
BF —MBOFBHE60m 5 1077 0.2 32 HE 50 #H wEN
BF —MROBHXE60m 6 10.96 0.0 43 BR 1&a(6) R OB @EBRS
BF —HOBHE60m ML-2ARERR T 1144 0.2 39 8 BM=(3) RO KSEEHE
BF —HROW 8 6 0m MU-AEEEE 8 1157 0.0 51 ILF #HH@) BBRS
BF —MBOFBHA60m MU-RERER 9 11.78 0.0 50 A ARKEE(4) R # WHRS
BF —HROW 8 6 0m MU-MEEER 10 1180 02 23 A% RA() EE SN
BF —MBOFBHA60m MU-RERR 11 11.97 02 26 fadk  xM(1) RO HREPEN
BF —ROW 8 6 0m MU-AREER 12 1228 02 73 BA HEQ) OB IR
[ B [ v—x [mu] =8 [ &] No | K% [me ] mE | | [ [ [t ]
BF —BOBLE100m 1 1239 05 17 @E {8 OB RAEAC
[ B [ v—x [mu] =8 [ & No | K% [ e ]  mE | | [ [ [t ]
BF —BOBLAE 100m HLL-2148 1 1503 08 47 JIIF BK(5) R O BERS
BF —MROFB/AF 100m PZINSE Y 2 1520 0.8 69 FiE  KM(4) R B ARIVE
BF —BOWLAE 100m MLL-21%8 3 1652 0.8 66 EL (4 OB AT
BF —HOHNF 100m L2148 4 1726 0.8 70 f@k EE) EESZa s
BF —BOWLAE 100m HMLL-21%8 5 1744 08 384  K¥() KEREEHE
BF —KOBWAF 100m PZINSE Y 6 17.64 08 67 #H K@) IRRTH-X
BT —BOWLAE 100m HLL-21%8 7 1879 0.8 68 M EEM) TR
B L—2  [mfz] @& | & No | K% [ m® [t ]
BF —BOWLAE 100m 4LL-2248 1 1462 13 27 #E  #05) ET IS
BF —KOBWAF 100m 2LL-2248 2 1527 13 49 IFF  FHHE(5) R # WHRS
BF —BOWLAE 100m HMLL-2248 3 1545 13 21 %8 EX0G) OB WEHEIN
BF —KOBWAF 100m 2LL-2248 4 1557 1.3 46 B BEA(S) R # WHRS
BF —BOWLAE 100m MLL-2248 5 1616 13 28 E@E EAEG) B
BF —KOBWAF 100m 2L-224 6 1635 13 34 =7 SEAER(S) =100
BF —BOWLAE 100m L2248 7 1651 13 65 8@ E{-(4) = EES ey
BF —KOPWAF 100m 2LL-224 8 17.55 1.3 48 HEH FPK(5) R # WHRS
B L=z [ef] m=® | B[ No | R4 I FilE [0t
BF —KOBWAF 100m 2LL-234E 1 1477 09 60 & mE(6) RO PRI
BF —BOWLAE 100m HLL-2348 2 1540 09 45 LT #3:(6) R O# BERS
BF —HOBAF 100m 2LL-2348 3 1544 09 37 A& HEE(6) R KEREHKE
BF —HOENF 100m 24LL-234E 4 1579 0.9 44 Fx  EHE6) #H WHRS
BF —HOBAF 100m 2LL-2348 5 16.14 0.9 63 g XH(5) 8 IFRRIIX
BF —BOWAE 100m HMLL-2348 6 1718 09 43 BR f&i4(6) R O# BERS
BF —MBOBAF 100m 2LL-2348 36 fER HK(6) R OB KEEEHE xo%
BF —BOWAE 100m ALL-2348 25 f3 BA6) OB R x5
B L—2  [mf] m=® [ m ] No | K2 [me [  #& [t ]
BF —BOBAE 100m MU-ARERE 1 1462 13 27 #E  #5) EEET N
BF —HROBLAE 100m 1477 09 60 B A6 ERE SV
BF —BOWAE 100m 1503 0.8 47 JIIF #EK(5) # @ERS
BF —HROWLAE 100m 1520 0.8 69 FEE XM ERE SV
BF —BOWAE 100m 1527 13 49 KT HE0) R O# BERS
BF —ROWLAE 100m 1540 09 45 IWF E35(6) R O# WERS
BF —MHOENFE 100m 15.44 0.9 37 B HAH(6) B AERELHE
BF —HROWLAE 100m 1545 13 21 i EK() OB WEBIN
BF —BOWAE 100m 1557 13 46 FH  BK0G) R O# BERS
BF —HROWLAE 100m 1579 09 44 #%  EFH6) R O# WERS
BF —BOWAE 100m 1614 09 63 L@l XBG) RO AREIR
BF —MROFBAF 100m 16.16 1.3 28 L@ EN(G) £ BN
BF —BOWAE 100m 1635 13 34 =# 5=AHG) = IN
BF —HOBAF 100m 1651 1.3 65 i5E  F{=(4) RO IEIIR
BF —HOENF 100m 1652 0.8 66 ML E(4) SV
BF —HROWAE 100m AR 16 1718 0.9 43 BR #i4(6) RO WERS
BF —MBOEBNF 100m MU-AEERR 17 17.26 0.8 70 ek EE4) RO ORI
BF —HROW/AE 100m MU-AREESR 18 1744 08 383  AH() OB AERLXKE
BF —HOWLAZE 100m MU-ARERER 19 1755 13 48 #H BAG) R O# BERS
BF —HROW/AE 100m 20 17.64 08 67 & H@) B S S
BF —MBOEBNF 100m MU-RERR 21 1879 0.8 68 57 EIE(4) RO IRRIX
it v—z  [mf] m=® [ m ] No | 2 [me [  mm [or]
BF —BOMIHES00m HMLL-2148 1 2:56.95 69 FE K(4) I TS
BF —ROBLLE 800m L2148 2 3:07.67 65 i BE{=(4) B S S
BF —HOMIHES00m L2148 3 3:07.67 66 B E(4) B S
BF —MBOBHXES80O0m L2148 4 3:07.73 70 fEA EH4) R OB IRV
BF —BOMIHES00m ALL-A148 5 3:09.42 68 <FE (EHE(4) RO IR
BF —ROWLLE 800m L2148 6 3:13.67 67 B R(4) B S S
BF —BOMIHES00m ALL-A148 7 3:14.65 51 ILF %@ R O# BERS
BF —HROBLLE 800m L2148 8 3:18.14 50 A FAMMA) R # WERS
shit v—x  [mf] m=® [ B[ No | R4 iR [oot]
BF —HROBLLE 800m HLL-R248 1 2:30.56 13 %5 fit R OB LIE0REA
BF —MHOE B 800m 2LV -A24E 2 2:43.61 21 e EK(G) H OB wEBIN
BF —ROWLLE 800m MLL-R248 3 2:44.96 37 & AE(6) OB AERLXE
BF —BOMIHES00m 2LL-R2%8 4 2:45.75 59 #M  AA(6) B S
BF —ROBLLE 800m MLL-R248 5 2:47.16 45 | #35(6) RO WERS
BF —MBOFBHEE00m 2ALL-A248 6 2:53.56 31 A AAHA(5) RO @
BT —HROBLE 800m MLL-A248 7 3:09.67 62 EA f5H(5) RO AT
BF OB 800m 2ALL-A24 8 3:35.96 64 EL E(5) FRERTVI-X
BT —HROBLLE 800m MLL-R248 25 T3 EA6) E - UN x %



F4EARFETRE L BHER 2024468308 (8)
RIS b EEFRS

S S
B v—2  [mf] @& | & No | =3 [me [  #E [t ]
BF —BROW B 800m MU-ABERR 1 2:30.56 13 %5 fit R B LED
BF —HROBLE 800m MU-AREREE 2 2:43.61 21 £ EKX() OB LSBT
BF —HOBHXAS00m MU-ZEERR 3 2:44.96 37 B JAEL(6) RO KEREHE
BF —HROBLEE 800m MU-MREREE 4 2:45.75 59 #M  AA(6) B IRERIR
BF —HOBHXAS00m 5 2:47.16 45 T EE5E(6) # WHRS
BF —MROBHXES800m 6 2:53.56 31 A MIKEA(S) ST 2N
BF —HOBHXAS00m MU-ZEERR 7 2:56.95 69 FEiE K@) IRRTH-E
BF —HROBLEE 800m MUL-AER 8 3:07.67 65 MM B{=(4) TR
BF —ROWHAE800m MU-ARERR 9 3:07.67 66 ML 35(4) TR
BF —HROBLE 800m MU-MEEER 10 3:07.73 70 A EEA) TR
BF —HOBHXAS00m MU-AEERBR 11 3:09.42 68 ~7fE fE1E(4) RO PRI
BF —HROBLE 800m MU-AEEER 12 3:09.67 62 @A f5H(5) RO OIREIR
BF —HOHEB800m MU-AREER 13 3:13.67 67 mi  H(4) N S S
BF —HOBLE 800m MU-MEEER 14 3:14.65 51 ILF %5H@) R O# BERS
BF —HOHEB800m MU-THRERER 15 3:18.14 50 g ARARB(4) R O# WERS
BF —HOBLE800m MU-AREER 16 3:35.96 64 FIL %(5) TR
[ B [ v—x [mu] =8 [ & No | 23 R | [ [ [t ]
BY OB 1500m 1 4:21.12 12 WA BE HR
EF —HKOB—HK 1500m 2 5:02.15 13 5 it LiFoRE
[ ik [ v—x [meu] =% [&] No ] 4 FE | | | [ [0t
BF —HOH K 3000m 1 9:30.78 12 A B HE
BF —BOWL—E 3000m 2 10:20.87 14 Yzy— T7Av RA%AC
BF —HOB—H3000m 3 10:34.93 16 fE Fx FAEAC
B v—2  [mfz] @& [ & No | F-bm | FE |BIEER) [EoE(Re)  [Ese(rz)  [#4E(R#) | k|
BF —MROF B 4x100mR 1 1:00.37 MEFRS C R # WBFRS EOKKEG) W E&3(6) T () NIFE EX(G)
BF —MOBHBE 4x100mR 2 1:02.31 1N = O mE E  H%4(5) HE  f0G) HA AABAG) EEB ENEG)
BF —RO#HE4x100mR 3 1:04.53 MWEHFRS D R 8 W@FRS S # ERE6) BR 154(6) T PAEG)
BF —MOBHB 4x100mR 4 1:04.58 RV F—Z A R 8 ORI WiEl R (5) #E AF(6) 24 fh24(5) B RH(®6)
EF — OB B 4x100mR 5 1:06.70 BT F—XB R B WA Bl 3E4) O IO = =)
[ ik [ v—x [meu] =% [&] No ] 4 [me ]  mE ] | | [ [0t
BF —ROEH —fk EE 1 3m47 -L4 11 LE AW R OB HR
BT —ROB —fk EIRB 2 3mal -01 89 A ¥ OB FEBES
[ B [ v—x [mu] =8 [ & No | 23 [ e ]  mE | | [ [ [t ]
BT RO /I EIRB 1 3m91 -0.5 60 & AIL(6) B TS
BF —RROH; 1 EIEBE 2 3m73 -0.6 46 W BEK(5) HBEFR S
B —BROIB I EIRB 3 3m29 0.6 63 LA KKHE) EiE S
BF —REROH; I EIEBE 4 2m96 0.7 48 HFH HK() BBRS
BT —ROWB N ERED 36 fE EK(6) KR EHE x5
[ B [ v—= [ma] ms& [ & ] No | 2 R | | [ [ [t ]
BF — RO —K % Y 12(0.800kg) 1 39m93 18 FiE A RAAC
[ B [ v—= [mm] ms& [&] No | K2 R | | [ [ [t ]
BF — RO —K Y 12(0.600kg) 1 17m55 11 L 3N HR
B [ v—= [ma] ms& [ & ] No | K2 R | | [ [ [t ]
BY OB NE Do~y R 1 43mo03 28 £H ENE) N
BF —HROBAFE v RY v SR—E 2 41m02 59 #5MH  AH(6) IRERTH-E
BF OB NE Do Yy R 3 36m02 27 #E  #(5) Ba
BF —BOW NG Do Uy R 4 35m77 38 KEG) OB AERLEKE
BF OB NFE D r Yy SR 5 30m64 49 T #HHE(5)
BF —ROBAFE PrRY v SR—E 6 30m50 61 FF&E  fE£(6)
BF OB NFE D r Yy SR 7 29m68 34 =@ STRER(S)
BF —BOW NG Do Uy R 8 29m38 29 RiE HEG) T N
BY OB NE Do Yy R 9 20ma8 64 AL #(5) B S
BF RO N Do Ny SR 10 20m27 35 A EH(5) =B B
ik v—x  [mf] m=s [ B[ No | 4 [me ]  #E [oot]
LF —HOFMF 60m PN SE | 1 10.88 1.3 30 BE H4F(Q) R mEN
LT —HOWNE 60m HLL-2148 2 1110 13 85 FEE BE(2) S S
2T —ROB N 6 0m L2148 3 1190 13 86 =M@ ®BE(Q) RO ¥R
ZF —HDENF 60m 2ALL-A1HE 4 1191 13 87 #8H HR(2) RO ORI
T —ROB N 60m L2148 5 1206 13 22 & HME) R OB LERIN
ZF —HDENF 60m 2ALL-A1HE 6 1240 13 33 #HEk BEKQ) R #®
2T — OB N 6 0m 2LL-2148 7 1264 13 88 ¥@E HE() B S S
LF OB NE 60m 2LL-2148 20 HH E0(2) OB LAEAM x %
B L—2 W] ®& | & No | 23 [me] & [ ]
ZF —HDENF 60m 2ALL-A24E 1 9.67 0.4 52 57 #3(6) RO OBEHRS
T — OB N 60m 2LL-2248 2 1030 04 53 ML E(6) RO WERS
LF —HOW N 60m aLL-R2%8 3 1043 04 54 @I HHE) R O# BERS
T —ROB N 60m 2LL-2248 4 11.04 04 57 HE Z&M) RO WERS
ZF —HDENF 60m 2LV -A24E 5 11.82 04 84 B0 HREG) ROE YRR
2T — OB N 6 0m 2LL-2248 6 11.85 04 24 MR PHEG EE 3 UN
LF OB NE 60m 2LL-R2%8 7 1192 04 83 Eh HIHEQ) "B R
it L—z W] m=® | m ] No | 2 [me [  mm [ ]
ZF —HOENFE 60m RAERR 1 9.67 0.4 52 57 #3(6) RO OBERS
2T — OB N 6 0m AR 2 1030 04 53 ML E(6) RO WERS
LF —HOW N 60m ML-ZEHR 3 1043 04 54 @) HEHE) R O# BERS
T — OB N 60m MU-REER 4 1088 13 30 RE H4F(3) T N
ZF —HDENF 60m MU-ERR 5 11.04 04 57 HE EH(4) RO OBERS
T —ROB N 60m MU-ARERSE 6 1110 13 85 @EE BA() FOB IR
ZF —HOBAF 60m MU-RERR T 11.82 04 84 B0 HREG) ROE SRR
ZF —HROB N 60m MU-AREEE 8 11.85 04 24 @R PHEG) E - UN
ZF —HOBAF 60m MUU-TRERER 9 11.90 1.3 86 #fE WE(Q2) S S
ZF OB NE 6 0m MU-AEEESR 10 1191 13 87 8 BKEQ) RO AT
LF — RO NF 6 0m MU-MERRE 11 11.92 04 83 M FE®R) RO ORI
ZF OB NE 6 0m MU-AREESE 12 1206 13 22 & HME) RO LEHIN
ZF —HOBAF 60m MU-AEERHR 13 1240 13 33 A () U . N
ZF —HROB N 60m MU-AREESE 14 1264 13 88 wE ®E() RO AT



£ 4 ERFHETRE L RFER

202446 A 308 (8)
RIS b EEFRS

EH—E
i Lv—2  [mf] @& | & No | 3 iR N
LZF —HROWLHEE 100m ALL-A1%8 1 1526 05 55 f {EHE(6) RO WERS
LF —MROBHE 100m 24LL-R148 2 1540 05 52 57  #%(6) S HHERS
LF OB 100m 2L-A1HE 3 16.30 05 53 /il E(6) MWERS
ZF —HROBLE 100m L2148 4 1645 05 40 =@ A6 KEkEEHE
LF OB 100m PZINSE Y 5 16.59 0.5 75 KI %B(5) IRRTH-A
LZF —HROBLE 100m L2148 6 1682 05 54 &)l H74H(6) RO EBRS
XF —HOFHXA 100m 2L-A1HE 19 B »H3RE(H2) R B S5HOBELE x5
it v—z  [mf] =% [ B[ No | 4 [or]
LF —HOBHA 100m 2LL-224 1 16.52 0.6 76 fMHE {KAIR(5)
ZF —HROBLE 100m L2248 2 1685 06 79 HE £ RO ORISR
LZF —ROWHEB 100m wLL-R2%8 3 1750 06 42 EE woH@) R OH KEREEEE
ZF —HOBLE 100m L2248 4 1758 0.6 56 Ak EHE@) R O# WERS
LZF —HROWLEE 100m L2248 5 1779 06 57 &M@ E&M) £ WERS
LZF —HROBLE 100m MLL-2248 6 1796 06 77 i EH(5) OB IR
LF —HOBHEA 100m 2LL-224 7 17.97 06 82 B ML) RO PRI
LZF —HROBLE100m ALL-2248 8 19.64 06 24 AR PHW) OB R
B L—2 [z ®& | & No | K% [mr] =& [ o]
LZF —HROBLEE 100m MU-AREEE 1 1526 05 55 &% {#73(6) R # BERS
LF —HOBHA 100m MU-TRERER 2 1540 0.5 52 % #(6) R # WHRS
LZF —HROBLE 100m MU-MEEESE 3 1630 05 53 Avb #(6) R O# BERS
LF —HOBHEA 100m MU-TRERER 4 16.45 0.5 40 #fE - 7(6) RO KEREHE
LZF —HROBLE 100m MU-MEEER 5 1652 06 76 MM (KAL) OB AT
LZF —HROWLEE 100m MU-ZEEER 6 1659 05 75 KT #B06) IS S
LZF —HROBLE 100m MU-HEARHR T 1682 05 54 @)l H7%H(6) # WHERS
LZF —HROBLEE 100m MU-ZEHR 8 1685 06 79 HE EK@) OB IR
LZF —HROBLE 100m MU-MEEESR 9 1750 06 42 #&E woH@) OB AEREHE
LZF —HROWLEE 100m MU-ZEEHER 10 1758 0.6 56 A Hk@) RO WERS
LZF —HROBLE100m MU-AREESR 11 1779 06 57 &M EHM) # WHERS
LF —HOBHEA 100m MU-ARERBR 12 17.96 0.6 77 A EIE(5) BRIV
LZF —HROBLE 100m MU-AREER 13 1797 06 82 EA HiL() B ARERIR
XF —HOFHBE 100m MU-TRERER 14 19.64 0.6 24 BR JEM) LIS
B v—2  [Ef] ®& [ A No | 23 R [
ZF —HROWLAF 800m 1 3:01.99 55 7 £f#75(6) #BHRS
ZF —MOBNFE 800m 2 3:05.44 82 B4 HhE[) RO WX
ZF —HROBAE 800m 3 3:05.94 56 A EHkM) R O# WERS
LT —HOIBAE 800m 4 3:07.04 78 A0 #B(5) EiE S
ZF —MOWAF 80 0m 5 3:09.15 74 BRE 17 (6) RS H-R
LF —BOBAE 800m 6 3:11.88 80 H[E BH() U2
B L—2  [mf] m=® | m ] No | KE [me [  m& [0 ]
LT —ROWB I EIRB 1 3m39 04 75 KT EHEG) RO AR
ZF —REOE NP EIEBE 2 3m31 11 74 A 1% (6) RO IEIIR
LF — D NF EE 3 3m29 -0.4 41 SE REWG) R B KSREEHEE
LF —ROE NP EEH 4 3mi2 0.1 80 #f E#(4) RO IEIIR
LT —ROIB I EIRB 5 3m03 -0.6 42 FEE WO%H() # AEEEHE
T — OB N EIRB 6 3m00 0.2 76 AH (KAR(5) B IRIT
LT —ROIB I EIRB 7 2m87 -0.8 77 BN () B S
LF —ROE; NP EEH 8 2m75 0.1 79 HiE EKA4) RO PRI
LT — RO I ERED 9 2m39 07 81 A ME®) OB AR
it L—2  [mf] m=® | m ] No | KE [me ]  mE | [ [ [ [0 ]
LT — RO —# IR (4.000ke) 1 9m08 15 KF % = OH REAC
[ B L—2  [mf] m=® | m ] No | KE [me ]  mE | [ [ [ [0 ]
BT —HROBNE Do~y R 1 22ma8 78 w0 HBEG) I TS
ZF —BOB NG TRy R 2 20mo01 40 =@ #6) OB AERELEKE
LT RO NE Do Yy R 3 18m81 41 S RB@) OB AEREHE
B L—2 [Wf] ®& [ BR[| No | F—L&z | RR]| #E F1E(ER) [oE(xe)  [BsE(rz)  [B4E(RE) | wt |
ZF MO B 4x100mR 1 1:02.33 WEHRS B = B Al E(6) SE #&6) @Il BieH(6) FERETE)
ZF —ROWB B 4x100mR 2 1:07.90 HHETvF—XC W B ME KMEG) KT EBG) BN BEG) A0 EBEO)
LF —HOE B 4x100mR 3 1:10.92 FETVF—ZAD W O OIREIR HE BH4) HE ERG) B FEG) R A0
B L—2  [Wf] ®& [ R | No | F-L% | RR]| FRE F1E(ER) [EoE(Re)  [B3E(rz)  [®4E(RE) | wt |
BE —MOWNFE 4x100mR 1 1:13.02 BERS A RO OBERS MAE AERER(4) WERE E8@) MLT HEG) Witk Fx@)



